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Where	
  �	
  is	
  used	
  to	
  concatenate	
  	
  
0011	
  0000	
  0000	
  0000	
  0000	
  0000	
  0000	
  0000	
  (28)	
  
0010	
  0000	
  0000	
  0000	
  0000	
  0000	
  0000	
  0000	
  (28)	
  
	
  
PC:	
  no	
  explicit	
  	
  



choose	
  -­‐8	
  so	
  we	
  have	
  a	
  sign	
  bit	
  
+0	
  =	
  -­‐0	
  
wraps	
  from	
  +7	
  to	
  -­‐8	
  
asymmetric:	
  no	
  +8	
  
Range	
  of	
  values	
  with	
  n	
  bits	
  goes	
  from	
  unsigned:	
  0	
  to	
  2^n	
  –	
  1	
  
For	
  signed:	
  2^(n-­‐1)-­‐1	
  to	
  -­‐2^n	
  
	
  



Take	
  1101.	
  
Subtract	
  1:	
  1100,	
  flip	
  bits	
  0011	
  which	
  is	
  3.	
  Therefore	
  1101	
  represents	
  -­‐3	
  
	
  
MSB	
  x	
  (-­‐2^)	
  +	
  all	
  the	
  other	
  bits	
  evaluated	
  as	
  usual	
  
-­‐8	
  +	
  4	
  +	
  1	
  =	
  -­‐8	
  +	
  5	
  =	
  -­‐3	
  
	
  
MSB	
  x	
  (-­‐2^5)	
  +	
  all	
  the	
  other	
  bits	
  evaluated	
  as	
  usual	
  
	
  
Try	
  another	
  example	
  
-­‐32	
  +	
  5	
  =	
  -­‐27	
  
Subtract	
  1:	
  100100,	
  flip	
  bits	
  011011.	
  This	
  is	
  16	
  +	
  8	
  +	
  3	
  =	
  27	
  
	
  
MSB	
  x	
  (-­‐2^5)	
  +	
  all	
  the	
  other	
  bits	
  evaluated	
  as	
  usual	
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Peta:	
  10^(-­‐15)	
  
Exa:	
  10^(-­‐18)	
  
ZoXa:	
  10^(-­‐21)	
  
YoXa:	
  10^(-­‐24)	
  
	
  
Benchmarks	
  like	
  SPEC	
  are	
  used	
  to	
  compare	
  across	
  architectures	
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Is	
  the	
  the	
  AND	
  path	
  or	
  the	
  32	
  bit	
  adder	
  path	
  that	
  is	
  going	
  to	
  determine	
  your	
  
performance	
  in	
  your	
  ALU	
  from	
  Lab1?	
  
	
  
Cribcal	
  path	
  is	
  what	
  determines	
  what	
  is	
  the	
  slowest	
  path	
  through	
  the	
  logic.	
  And	
  
therefore,	
  it	
  determines	
  the	
  minimum	
  length	
  of	
  the	
  cycle.	
  That	
  in	
  turn	
  determines	
  the	
  
maximum	
  clock	
  frequency.	
  
For	
  example	
  if	
  the	
  cribcal	
  path	
  is	
  1	
  nanosecond,	
  the	
  clock	
  frequency	
  is	
  at	
  most	
  1	
  GHz.	
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100ns	
  =	
  10MHz;	
  50ns	
  =	
  20MHz;	
  33ns	
  =	
  30	
  MHz	
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100ns	
  =	
  10MHz;	
  50ns	
  =	
  20MHz;	
  33ns	
  =	
  30	
  MHz	
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0.25	
  x	
  3	
  +	
  0.6	
  x	
  2	
  +	
  0.1	
  x	
  1	
  =	
  0.75	
  +	
  1.2	
  +	
  .15	
  =	
  2.1	
  

14	
  



15	
  



So	
  the	
  goal	
  is	
  to	
  make	
  it	
  run	
  at	
  30	
  MIPs.	
  
	
  
CPI	
  =	
  (.25	
  x	
  3	
  +	
  .6	
  x	
  2	
  +	
  .15	
  x	
  1)/1	
  =	
  2.1	
  
	
  
MIPS	
  =	
  30	
  MHz/2.1	
  =	
  14.28	
  MIPS.	
  Call	
  it	
  15	
  MIPS	
  
	
  
Want	
  to	
  double	
  It	
  to	
  28.56	
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So	
  the	
  goal	
  is	
  to	
  make	
  it	
  run	
  at	
  approximately	
  30	
  MIPs.	
  
	
  
Original	
  CPI	
  =	
  (.25	
  x	
  3	
  +	
  .6	
  x	
  2	
  +	
  .15	
  x	
  1)/1	
  =	
  2.1	
  
MIPS	
  =	
  30	
  MHz/2.1	
  =	
  14.28	
  MIPS.	
  Call	
  it	
  15	
  MIPS	
  
	
  
Say	
  you	
  drop	
  the	
  CPI	
  for	
  the	
  arithmebc	
  operabon	
  to	
  1.	
  Will	
  that	
  double	
  it?	
  No.	
  	
  
.25	
  x	
  3	
  +	
  .6	
  +	
  .15	
  =	
  1.5	
  
30	
  MHz/1.5	
  =	
  20MIPS	
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But	
  we	
  want	
  to	
  half	
  our	
  CPI.	
  Let	
  the	
  new	
  arithmebc	
  operabon	
  have	
  a	
  CPI	
  of	
  x.	
  	
  
	
  
3	
  x	
  .25	
  +	
  x	
  *	
  0.6	
  +	
  .15	
  =	
  1.05	
  
.75	
  +	
  .15	
  +	
  x	
  *	
  0.6	
  =	
  1.05	
  
x	
  =	
  	
  0.25	
  
	
  
That’s	
  a	
  big	
  improvement	
  you	
  need!	
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Consider	
  our	
  GPU	
  example	
  with	
  2k	
  cores.	
  
	
  
Say	
  we	
  have	
  a	
  program	
  that	
  takes	
  2000	
  seconds	
  to	
  run:	
  	
  200	
  seconds	
  is	
  the	
  start	
  up	
  
bme	
  (reading	
  data),	
  and	
  1800	
  is	
  the	
  “main”	
  algorithm.!	
  This	
  doesn’t	
  seem	
  so	
  bad.	
  
200/2000	
  =	
  10%	
  only	
  of	
  startup	
  and	
  90%	
  of	
  the	
  program	
  is	
  in	
  the	
  slow	
  algorithm.	
  
	
  
We	
  want	
  to	
  speed	
  it	
  up	
  by	
  running	
  on	
  a	
  GPU	
  with	
  2000	
  cores!	
  Ideally	
  we	
  would	
  get	
  
2000x	
  speedup	
  and	
  the	
  program	
  will	
  run	
  in	
  1	
  second.	
  	
  
	
  
But	
  when	
  we	
  port	
  it	
  to	
  the	
  GPU,	
  we	
  can	
  only	
  improve	
  the	
  “main”	
  algorithm	
  which	
  is	
  
highly	
  parallelizable.	
  You	
  can	
  improve	
  the	
  1800	
  seconds	
  down	
  to	
  <	
  1	
  second	
  say,	
  
because	
  you	
  can	
  fully	
  parallelize	
  the	
  algorithm	
  on	
  2000	
  cores.	
  	
  
	
  
But	
  sbll	
  the	
  bme	
  for	
  the	
  whole	
  program	
  is	
  201	
  seconds.	
  So	
  you	
  threw	
  2000	
  cores	
  at	
  
the	
  problem,	
  but	
  your	
  speedup	
  is	
  2000/201	
  which	
  is	
  approximately	
  10x.	
  So	
  with	
  2000	
  
cores	
  you	
  only	
  got	
  10x	
  speedup.	
  Amdahl’s	
  law	
  expresses	
  that	
  “unfortunate”	
  relabon.	
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Latency	
  =	
  4	
  
CPI	
  =	
  4	
  (here	
  the	
  instrucbon	
  is	
  the	
  construcbon	
  of	
  the	
  bike)	
  
Throughput	
  =	
  2	
  bikes	
  in	
  8	
  secs.	
  So	
  1	
  task	
  in	
  4	
  secs.	
  So	
  ¼	
  throughput	
  
Concurrency:	
  0	
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Delay:	
  4	
  cycles	
  /	
  task	
  
Throughput:	
  1	
  task	
  /	
  cycle	
  (huge	
  improvement)	
  arer	
  your	
  inibal	
  startup	
  of	
  filling	
  the	
  

pipeline.	
  

Parallelism:	
  4	
  concurrent	
  tasks	
  
	
  



Now	
  what	
  if	
  drilling	
  is	
  twice	
  as	
  long	
  but	
  the	
  gluing	
  and	
  paint	
  are	
  ½	
  each.	
  	
  
	
  
	
  



So	
  total	
  latency	
  is	
  sbll	
  the	
  same:	
  4	
  
CPI:	
  4	
  cycles	
  /	
  task	
  
Throughput:	
  1	
  task	
  /	
  2	
  cycle,	
  First	
  task	
  out	
  at	
  cycle	
  4,	
  second	
  at	
  6,	
  third	
  at	
  8,	
  fourth	
  at	
  

10.	
  So	
  ½.	
  Not	
  1!	
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This	
  is	
  simpler	
  than	
  the	
  MIPS,	
  but	
  we’re	
  using	
  it	
  to	
  get	
  the	
  concepts	
  across	
  –	
  
everything	
  you	
  see	
  here	
  applies	
  to	
  MIPS,	
  but	
  we	
  have	
  to	
  deal	
  w/	
  fewer	
  bits	
  in	
  
these	
  examples	
  (that’s	
  why	
  I	
  like	
  them)	
  
	
  



What	
  does	
  that	
  do	
  to	
  a	
  clock	
  cycle.	
  It	
  is	
  the	
  bme	
  for	
  1	
  stage.	
  So	
  5	
  bmes	
  faster	
  in	
  this	
  
case	
  (ASSUMING	
  all	
  stages	
  are	
  approximately	
  equal	
  sized)	
  
Ler	
  to	
  right	
  flow	
  except	
  for	
  the	
  write-­‐back	
  phase	
  and	
  the	
  branch	
  targets	
  that	
  can	
  
change	
  the	
  PC.	
  Otherwise	
  ler	
  to	
  right.	
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Early	
  decode:	
  decode	
  all	
  instr	
  in	
  ID,	
  pass	
  control	
  signals	
  to	
  later	
  stages	
  
Late	
  decode:	
  decode	
  some	
  instr	
  in	
  ID,	
  pass	
  instr	
  so	
  each	
  stage	
  computes	
  its	
  own	
  
control	
  signals	
  
	
  

46	
  





48	
  





50	
  





52	
  



53	
  




